
FIRS.f EXAIIINATION IN SCIDNCE - 20,06/2006

SECOND SEMESTER (Mar./ Apr., 2ooE)
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all questions Time : 02 hours

Simplifr each ol the {ollowing:

i. (0.16)r/2 * fl9\"'x 112slr/j
\ 25,/

f6;rr
ylrt yz I ,-z ,'

iii. (a!/? - t)(o'l5 l arir 4 1;.

Solve the following equations:

i, to(2i + 1\-2 -7(2,:+1)-1 +1-0,

ii.3-"= 1.

If a'+lf = 11a6, then prove that

Ia-,.r[ , l= losa+los6.

ize the followins:

ot a2 - 4aa - 21,

(o - 2)'?+ (2' - 4)(o - 6),



2. (a) Ditrerentiaie the lollcnving functioli with respect to ,:
i. g = e,(oin3o - 3cosfc),

ii y=c11.x.rr|n1"r*t1

(b) If s = f; uoo, = S rn* prcve rhat fl = t"1zt + t1.

(c) Integrate the following firnciion x,ith Iespect td,:
. I lncI t ------: d!J r: \/ (I^r\1 + 2

i. .l c2 eina dt.

(d) Evaluete ft -L*Jo tll - at


